
ASSEMBLY INSTRUCTION/ΣΧΕΔΙΟ ΣΥΝΑΡΜΟΛΟΓΗΣΗΣ

�9-2139



3

1

2

4

5

11

6

7

8

10

9

12

12

13

13

13

13



A C D

J

20PCS

A2

A1

2PCS

B

20PCS

M6*40

M8*40

M3.5*14

    36PCS

G HF

K

16PCS
8PCS

20PCS
1PCS

5PCS

M

2PCS

N

E

2PCS

L

8PCS

M6*35
M6*40

N1

N2

N3

N4

N5

P

P1

P2

P3

1PCS

X2

X4

X2

X2



A1

A1

A1

A1

A1

A1

B

B

B

B

B

B

B

B

A1

A1

A2

A2 A2

A2

A2

A2

A2
A1

B

A2x8pcs

A1x8pcs

Bx8pcs

F1

F2

F3

F2

F3

F4

F3x2pcs

F2x2pcs

F4x1pcs

F1x1pcs

1

1

2

2

6

6

7

8

7

F7x1pcs

F6x2pcs

F7

F6



A1
A2

A1
A2

A1

A1

A1

A1

A2

A2

A2

A2

B

B

B

B

B

B

A1

B

A2x6pcs

A1x6pcs

Bx6pcs

11

5

4

1

1

2

2

6

6

F5

F5x2pcs

F3x2pcs



A1

A1

A1

A1

A1

A1

K

Kx1pcs
A1

B

A2x6pcs

Bx6pcs

Cx4pcs

A1x6pcs

C*4

3

3

2

1

6

A2

A2

A2

A2

A2

A2



C

L

C

L

L

C

L

C

L

C

L

C

L
C

L
C

C
L

Cx8pcs

Lx8pcs

Hx8pcs

H

H

H

H

H

H

H

H

12

12

13

13

13

13

5

11



Dx2pcs

G

G G

G

G

G

G

G

G

G

G

G

G

G G

G

J

J

J

J

9

a

F

b

F

Such screws are included in the 

hinge packaging bag

Τέτοιες βίδες περιλαμβάνονται 
στη σακούλα συσκευασίας του 
μεντεσέ.

D

D

Gx16pcs

Cx4pcs

Jx5pcs

P2x1pcs

P1x1pcs

P3x1pcs

P1

P2

P3

J

C

C
C

4



C
C

E

C
C

E

Ex2pcs

Cx4pcs

a

c

b

a

b

c

Cx16pcs

C
C

C
C

10

10

9

1

2



1.

2.

3.

4.

N1

N2

N3

N4

N5

N1x2pcs

N2x2pcs

N3x2pcs

N4x2pcs

N5x2pcs


	1040边柜说明书01
	1040边柜说明书02
	1040边柜说明书03
	1040边柜说明书04
	1040边柜说明书05
	1040边柜说明书06
	1040边柜说明书07
	1040边柜说明书08
	1040边柜说明书09
	1040边柜说明书10

